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A

FV / pièces 4,00              FF 60 000,00    

PV /pièces 6,00              

[60'000/(6-4)] 30 000,00     Point mort pièces

[30'000*6] 180 000,00   Recette nette

B

Bénéfice 20 000,00    

[(60'000+20'000)/(6-4)] 40 000,00     Bénéfice

[40'000*6] 240 000,00   Recette nette

C

Bénéfice 40 000,00    

[(60'000+40'000)/(6-4)] 50 000,00     Bénéfice

[50'000*6] 300 000,00   Recette nette

D

Bénéfice 40 000,00    

[60'000/((6+1)-(4+1))] 30 000,00     Bénéfice

[30'000*(6+1)] 210 000,00   Recette nette

E

[60'000/(6-(4+1))] 60 000,00     Bénéfice

[60'000*6] 360 000,00   Recette nette

F

[60'000/6-4] 30 000,00     Bénéfice

[30'000*6] 180 000,00   Recette nette
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G

[60'000/(6*-20%)-(4*-20%)] 37 500,00     Bénéfice

[37'500/(6*-20%)-(4*-20%)] 180 000,00   Recette nette
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